[image: image1.png]‘Which one of the following statements always applies to a damping force acting on a vibrating system?

It is in the same direction as the acceleration.
It is in the opposite direction to the velocity.
It is in the same direction as the displacement.
It is proportional to the displacement.
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[image: image2.png]A 1.0uF capacitor is charged by means of a constant current of 10uA for 20s. What is the energy
finally stored in the capacitor?

A 4.0x1077
B 2.0x 1077
C 2.0x 1072
D 4.0x107]




[image: image3.png]7 In the circuit shown, the capacitor C is charged to a potential difference 7 when the switch S is closed.

‘Which line, A to D, in the table gives a correct pair of graphs showing how the charge and current
change with time after S is closed?
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[image: image5.png]A mass on the end of a string is whirled round in a horizontal circle at increasing speed until the string
breaks. The subsequent path taken by the mass is

a straight line along a radius of the circle.
a horizontal circle.

a parabola in a horizontal plane.

a parabola in a vertical plane.
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[image: image6.png]A particle of mass m moves in a circle of radius 7 at a uniform speed with frequency /. What is the
kinetic energy of the particle?

mfr

A P
B m I r
2
C 2mimf?




[image: image7.png]Two isolated point charges are separated by 0.04 m and attract each other with a force of 20 uN. If the
distance between them is increased by 0.04 m, what is the new force of attraction?

A 40uN
B 20uN
c 10uN
D 5uN




[image: image8.png]oR

The diagram shows a uniform electric field of strength 10 V™

A charge of 4uC is moved from P to Q and then from Q to R. If the distance PQ is 2m and QR is 3 m,
what is the change in potential energy of the charge when it is moved from P to R?

A 40 W
B 50 wl
[¢ 1200
D 2001




[image: image9.png]The path followed by an electron of momentum p, carrying charge —e, which enters a magnetic field at
right angles, is a circular arc of radius r.

‘What would be the radius of the circular arc followed by an o particle of momentum 2p, carrying
charge +2e, which entered the same field at right angles?

A r

2
B r
(o} 2r




